1.] Differentiate the following functions:  
a.) 
$$f(x) = (2x+1)(x^2 - 1)$$
  
 $f'_{x}(x) = (2x+1)(x^2 - 1) + (2x+1)(x^2 - 1)'$   
 $f'_{x}(x) = (2x+1)'(x^2 - 1) + (2x+1)(x^2 - 1)'$   
 $f'_{x}(x) = (2x+1)'(x^2 - 1) + (2x+1)(2x)$   
 $f'_{x}(x) = (2x)(x^2 - 1) + (2x+1)(2x)$   
 $f'_{x}(x) = (2x)(x^2 - 2 + 4x^2 + 2x)$   
 $f'_{x}(x) = (2x)(x^2 - 2 + 4x^2 + 2x)$   
 $f'_{x}(x) = (2x)(x^2 - 2 + 4x^2 + 2x)$   
 $f'_{x}(x) = (2x)(x^2 - 2 + 4x^2 + 2x)$   
 $f'_{x}(x) = (2x)(x^2 - 2 + 4x^2 + 2x)$   
 $f'_{x}(x) = (2x)(x^2 - 2 - 4x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x))$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x) = (2x)(x^2 - 4x) + (2x)(x^2 - 4x)$   
 $f'_{x}(x)$ 

3.2 (part 2): Derivatives of Products and Quotients

2.] Differentiate the following functions:

$$a.) f(x) = \frac{x^{2}}{x-1}$$

$$f'(x) = \frac{(x-1)(x^{2})' - (x^{2})(x-1)'}{(x-1)^{2}}$$

$$b.) g(x) = \frac{x^{3} - x}{x}$$

$$f'(x) = \frac{(x-1)(x^{2})' - (x^{2})(x-1)'}{(x-1)^{2}}$$

$$b.) g(x) = \frac{x^{3} - x}{x}$$

$$g'(x) = \frac{x^{2} - x}{x^{2}}$$

$$g'(x) = \frac{2x^{2} - x}{x^{2}}$$

3.] Differentiate the following functions:

3.) Differentiate the following functions:  
a.) 
$$f(x) = \frac{x^2}{3^x}$$
  

$$f''(x) = \frac{(z^x)(x^2)' - (x^2)(3^x)'}{(3^x)^2}$$

$$f'(x) = \frac{3^x 2x - x^2 \ln(3) \cdot 3^x}{(3^x)^2}$$

$$f'(x) = \frac{3^x 2x - x^2 \ln(3) \cdot 3^x}{(3^x)^2}$$

$$f'(x) = \frac{2x - \ln(3) \cdot x^2}{(x^2+1)^2}$$

$$f'(x) = \frac{2x - \ln(3) \cdot x^2}{(x^2+1)^2}$$

$$f'(x) = \frac{2x - \ln(3) \cdot x^2}{(x^2+1)^2}$$

4.] Find the equation of the line tangent to the graph of the function  $f(x) = \frac{8}{x^2 + 4}$  at the point (2, f(2)).